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PAPER CODE : TNTET-1

Total question : 150			   Time Period : 90 minutes   	     Maximum Marks : 150

Part Contents No. of  
Questons

I Child Development and Pedagogy 30 1 30 3 12
II Language I (Only One Language)

As selected by the candidate as medium of 
instruction in the Application form from the 
Language given below:

30 31 60

Tamil 30 31 60 13 16
Telugu 30 31 60 17 20

Malayalam 30 31 60 21 26
Kannada 30 31 60 27 30

Urdu 30 31 60 31 34
I I I Language II - English 30 61 90 35 40
IV Mathematics 30 91 120 41 52
V EVS 30 120 150 53 64

Question Nos.
From FromTo To

Page Nos.

Read the instructions in English  & Tamil at Page No. 32, Last page of this booklet.
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ð°F&I

PART&I

°ö‰¬î «ñ‹ð£´ ñŸÁ‹ èŸHˆî™

CHILD DEVELOPMENT AND PEDAGOGY

There are 30 questions in all in this part. All questions are compulsary

ÞŠð°FJ™ 30 Mù£‚èœ àœ÷ù. Ü¬ùˆ¶ Mù£‚èÀ‚°‹ M¬ìòO‚è «õ‡´‹.

1. 	 ‘¹øºè˜’ âùŠð´õ˜........... ä à¬ìòõ˜

	 (Ü) MK C‰î¬ù				    (Ý) °M C‰î¬ù

	 (Þ) Ìxò C‰î¬ù				    (ß)  °ÁAò ñùŠð£¡¬ñ

	 An ‘Extrovert’ is a person who possesses 		

	 (a) divergent thinking				    (b) convergent thinking

	 (c) no thoughts				    (d) narrow mindedness

2. 	 ¸‡E¬ô‚ èŸHˆî™ â¡ð¶

	 (Ü) ð£ì Ü®Šð¬ìJô£ù¶		  (Ý) Fø¡ °Pˆî¶

	 (Þ) «î¬õ Ü®Šð¬ìJô£ù¶		  (ß)  «ïó‹ °Pˆî¶

	 ‘Micro Teaching’ is 

	 (a) content based				    (b) skill based

	 (c) need based					    (d) time based

3. 	 ............... ð¼õ‹ ñù Ü¿ˆîº‹ Hó„C¬ùèÀ‹ G¬ø‰î¶ â¡Á ªê£¡ù£˜ vì£¡L ð£™ 

	 (Ü) °ö‰¬îŠ ð¼õ‹			   (Ý) º¡ °öMŠ ð¼õ‹

	 (Þ) °ñóŠ ð¼õ‹				    (ß)  º¿ ñQîŠ ð¼õ‹

	 Stanley Hall said that _____ is a stage of stress and strom

	 (a) childhood					     (b) Pre-childhood

	 (c) adolescence				    (d) adulthood

4. 	 ñ£‡®«ê£K Ü‹¬ñò£˜ ¶õ‚Aò ðœOJ¡ ªðò˜

	 (Ü) °ö‰¬îèœ i´				   (Ý) CÁõ˜ ðœO

	 (Þ) «è£¬ì ñ¬ôŠðœO			   (ß)  ºF«ò£˜ ðœO

	 The School started by Madam Montessori was named 

	 (a) Children’s House				    (b) Boy’s School

	 (c) Summer Hill School			   (d) Adult’s (Aged) School or School for the Aged
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5. 	 î¡ù£†C GÁõùˆF¡ CøŠHò™¹èO™ å¡Á

	 (Ü) ÝCKò˜èÀ‚°‚ ªè£´‚èŠð´‹ º¿ ²î‰Fó‹

	 (Ý) G˜õ£èˆFŸ° ÜO‚èŠð´‹ ²î‰Fó‹

	 (Þ) GÁõùˆF¡ «ñô£‡¬ñJ™ ñ£íõ˜èÀ‚° ÜO‚èŠð´‹ õ£ŒŠ¹

	 (ß) è™MJ™ ¹¶¬ñè¬÷ ÜPºèŠð´ˆ¶‹ ²î‰Fó‹

	  One of the essential features of autonomous institution is 

	 (a) Complete freedom given to teachers					  

	 (b) freedom given to the management

	 (c) representation of the students in the management of the institution 			 

	 (d) freedom to introduce innovations	

6. 	 Ýòˆî MF¬òˆ «î£ŸÁMˆîõ˜

	 (Ü) è£‚«ù					     (Ý) «ð‚R

	 (Þ) î£˜‡¬ì‚				    (ß)  ªñ‚è£«ô

	 The theory of readiness was formulated by

	 (a) Gagne					     (b) Bagley

	 (c) Thorndike					     (d) Macaulay	

7. 	 Cø‰î G¬ùõ£Ÿø™ I‚èõó£è‚ è¼îŠð´õ˜

	 (Ü) ªñ‚è£«ô				    (Ý) ð£šô£š

	 (Þ) vA¡ù˜				    (ß)  î£˜‡¬ì‚

	 The man considered to be with good memory power is 

	 (a) Macaulay					     (b) Pavlov

	 (c) Skinner					     (d) Thorndike 	

8. 	 ¬ñˆîì‹ «ê£î¬ù¬ò ðò¡ð´ˆF ÜPõ¶

	 (Ü) ÜP¾ õ÷˜„C¬ò			   (Ý) ÝÀ¬ñ

	 (Þ) G¬ùõ£Ÿø¬ô				   (ß)  Ý‚èˆ Fø¬ù

	 Ink Blot Test is used to test 

	 (a) Cognitive development			   (b) Personality

	 (c) Memory Power				    (d) Creative Power
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9. 	 ºî™ G¬ô á‚Aè÷£è è¼îŠð´ð¬õ

	 (Ü) àJ˜ õ£›õîŸ°Kò àìLò™ «î¬õèœ

	 (Ý) ð£¶è£Š¹ˆ «î¬õèœ

	 (Þ) î¡¬ù àò˜õ£è‚ è¼¶‹ «î¬õèœ

	 (ß) Ü¬ì¾ˆ «î¬õèœ

	 The Primary Motives are 

	 (a) Physiological needs for survival		  (b) safety needs

	 (c) esteem needs				    (d) achievement needs

10. 	 «ð†® º¬ø, Ü÷M´õ¶ å¼õó¶

	 (Ü) á‚èˆ¬î				    (Ý) î¡ù‹H‚¬è¬ò

	 (Þ) ÝÀ¬ñ¬ò				    (ß)  «ï˜¬ñ¬ò

	 Interview method measures one‘s

	 (a) motivation					    (b) confidence

	 (c) personality					    (d) sincerity 

11. 	 óvú™ ðò¡ð´ˆFò º¬ø

	 (Ü) ªî£°Šð£Œ¾ º¬ø			   (Ý) ¹ôm†´ º¬ø

	 (Þ) ðòm†´ º¬ø				   (ß) î¬ê ðJŸC º¬ø

	 Method used by Russell is 

	 (a) Induction method				    (b) Sensory method

	 (c) Pragmatic method				    (d) Muscular co-ordination method 

12. 	 Hò£«üM¡ «è£†´ð£´ °ö‰¬îèO¡

	 (Ü) ñùªõ¿„CèO¡ õ÷˜„C ðŸPò¶	 (Ý) ñùõ÷˜„C ðŸPò¶

	 (Þ) àì™õ÷˜„C ðŸPò¶			   (ß)  ÜP¾ õ÷˜„C ðŸPò¶

	 Piaget’s principles are about children’s 

	 (a) emotional development			   (b) mental development

	 (c) physical development			   (d) cognitive development 

13. 	 ªð£¶ˆ ªî£ì˜¹„ ê£îùƒèOù£™ Ü¬ì»‹ è™M âŠ«ð£¶ ªõŸP ªðÁ‹

	 (Ü) ÝCKò˜èœ CøŠ¹Š ðJŸC ªðÁ‹«ð£¶

	 (Ý) ï‹ ï£´ ªð£¶ˆ ªî£ì˜¹ ê£îùƒè¬÷ «õ‡®ò Ü÷¾ ªðÁ‹«ð£¶

	 (Þ) èŸðõ˜èÀ‚° ÜFè Ü÷M™ á‚è‹ ÜO‚°‹«ð£¶



TNTET-1      /    Cell:  7550151584 6

	 (ß) è™M G¬ôòƒèœ Üóê£ƒèƒèÀ‚° åˆ¶¬öŠ¹ ÜO‚°‹«ð£¶

	  Education through Mass Communication is successful when 

	 (a) the teachers are specially trained					   

	 (b) the country possesses adequate mass communication equipments

	 (c) the learners are highly motivated					   

	 (d) the educational institutions co-operative with the government

14. 	 ¸‡íP¾‚ «è£†ð£†®¡ Þ¼ è£óE‚ ªè£œ¬èè¬÷ è‡´H®ˆîõ˜ ò£˜?

	 (Ü) î˜ú¡					     (Ý) «ðŒ«ô

	 (Þ) ¬ðªï†					    (ß)  vHò˜«ñ¡

 	 Who propounded the Two Factor Theory of Intelligence?

	 (a) Thurstone					     (b) Bayley

	 (c) Binet					     (d) Spearman 

15. 	 «ì£óùv â¡ðõ˜

	 (Ü) îˆ¶õõ£F				    (Ý) M…ë£Q

	 (Þ) à÷Mò™ ÜPë˜			   (ß)  èEîMò™ ÜPë˜

	 Torrence was a 

	 (a) Philosopher				    (b) Scientist

	 (c) Psychologist				    (d) Mathematician 

16. 	 â‰î å¼ ñQîQ¡ ð‡ð£†¬ì»‹ ªðK¶‹ G˜íJŠð¶

	 (Ü) ²ŸÁŠ¹ø„ Åö™			   (Ý) õ£¿‹ G¬ôèœ

	 (Þ) «î¬õèœ				    (ß)  M¼Šð‹

	 The culture of any people is determined mostly by the 

	 (a) environment				    (b) living conditions

	 (c) needs					     (d) interest

17. 	 º®¾ ªðø£î ¹ø‚ «è£†®Q¡Á å¡¬ø à¼õ£‚°‹ Gè›„C

	 (Ü) º¿¬ñò£ùG¬ô			   (Ý) ¶¬í G¬ô¬ñ

	 (Þ) Þ¬í G¬ø¾				   (ß)  º¿ G¬ø¾

	  If we infer a thing rightly from an incomplete outline, it is called a process of 

	 (a) Completion				    (b) Supplementation 

	 (c) Complementation				    (d) Perfection 	
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18. 	 êÍè åŠð‰î‹ Þ¬î â¿Fòõ˜

	 (Ü) è£ó™ «ó£ü˜v				    (Ý) Ï«ê£

	 (Þ) ý£™H¡				    (ß)  Aó£çŠ†

	 ‘Social Contract’ was written by 

	 (a) Cari Rogers				    (b) Rousseau

	 (c) Halpin					     (d) Craft	

19. 	 ªì˜ñ¡ â¡ðõK¡ ÃŸÁŠð® ̧ ‡íP¾ ß¾ 120 ºî™ 140 õ¬ó àœ÷ ñ£íõ˜è¬÷ â‰î 
õ¬èJ™ «ê˜‚èô£‹?

	 (Ü) eˆFøI‚èõ˜				    (Ý) Fø¡ I‚èõ˜èœ

	 (Þ) «ñ¬îèœ				    (ß)  H¡ îƒAòõ˜èœ

	 According to Terman, the students with intelligence quotient between 120 and 140 are stated as 

	 (a) Very Superior				    (b) Superior

	 (c) Genius					     (d) backward

20. 	 ºî¡ºîô£è ï´G¬ô è™MJ™ ðôMîñ£ù ñ£˜‚èƒè¬÷ °PŠH†ì¶

	 (Ü) ý‡ì˜ °¿				    (Ý) ý£˜ì£‚ °¿

	 (Þ) à†v ÜP‚¬è				   (ß)  è™èˆî£ ð™è¬ô‚ èöè °¿

	 Diversified courses in secondary education was suggested for the first time by 

	 (a) Hunter Commission			   (b) Hartog Committee

	 (c) Wood’s Despatch				    (d) Calcutta University Commission 

21. 	 õ£›‚¬è àœÀí˜¾ ........... â¡Á Ü¬ö‚èŠð´Aø¶.

	 (Ü) ßó£v					     (Ý) ÅŠð˜ ß«è£

	 (Þ) î£ù«ì£v				    (ß)  LH«ì£

	 The life instincts are called

	 (a) Eros					     (b) Superego

	 (c) Thanatos					     (d) Libido

22. 	 W›‚è‡ìõŸP™ â¶ º¡«ùŸøŠ ðœO Ý°‹

	 (Ü) °ö‰¬îèœ Þ™ô‹			   (Ý) «è£¬ì ñ¬ôŠ ðœO

	 (Þ) ÝCóñŠ ðœOèœ			   (ß)  A‡ì˜è£˜†ì¡ ðœOèœ

	 Which of the following is the progressive school?

	 (a) Children’s Home				    (b) Summerhill School

	 (c) Ashram School				    (d) Kindergarten School 	
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23. 	 å¼ èŸøL™ ñ£Áî™ ð£¬îJ™ «î‚è G¬ô (Plateau) ãŸð†ì£™ Ü¶ ............ Ý°‹.

	 (Ü) º¡«ùŸø è£ô‹			 

	 (Ý) °¬ø‰î º¡«ùŸø è£ô‹

	 (Þ) º¡«ùŸø‹ ªîO¾ Þ™ô£î è£ô‹

	 (ß) «õèñ£ù º¡«ùŸø è£ô‹

	 In a learning curve, plateau refers to 

	 (a) Period of progress				    (b) Period of slow progress

	 (c) Period of no apparent progress		  (d) Period of rapid progress

24.	 á‚è ïìˆ¬î¬ò ãŸð´ˆF è¬ìJ™ Ü¬î Ü¬ìõîŸ° õNè£†´õ¶

	 (Ü) å¼ «ï£‚è‹				    (Ý) å¼ É‡´ ªð£¼œ

	 (Þ) æ˜ á‚A				    (ß)  æ˜ Þô‚°

	 The end state which gives direction to motivated behavior is called

	 (a) a purpose					     (b) an incentive

	 (c) a motive					     (d) a goal 

25. 	 ªèvì£™† â¡ø ªê£™L¡ Íô‹ ........... Ý°‹

	 (Ü) å¼ ªü˜ñ¡ à÷MòôPëK¡ ªðò˜

	 (Ý) º¿¬ñò£ù à¼õ¬ñŠ¹ Ü™ô¶ ð®õ‹ â¡ø ªð£¼œ ªè£‡ì ªü˜ñ¡ ªê£™

	 (Þ) ï™ô ¬ê¬è â¡ø ªð£¼œ ªè£‡ì ªê£™

	 (ß) å¼ ñQî °óƒA¡ ªðò˜

	 The origin of the word ‘Gestalt’ is 

	 (a) the name of a German psychologist 					  

	 (b) a German word which means pattern or configuration 

	 (c) a word which means good gesture					   

	 (d) the name of a chimpanzee 

26. 	 °¬øòP «ê£î¬ù

	 (Ü) ð£ì‹ ïìˆ¶õîŸ° º¡ ªè£´‚èŠð´õ¶

	 (Ý) å¼ ñùMòôPëó£™ îò£K‚èŠð†ì¶

	 (Þ) H¡îƒAò °ö‰¬îèÀ‚° ñ†´‹ ªè£´‚èŠð´õ¶

	 (ß) Hó„ê¬ù‚°Kò ð°Fè¬÷‚ è‡ìP‰¶ ªè£´Šð¶

	 A diagnostic test is 

	 (a) given before teaching a topic		  (b) prepared by a psychologist

	 (c) given only to backward children		  (d) given to identify problem areas
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27. 	 ì£Av«ì£v«è£Š ........... Ü÷M´‹ è¼M

	 (Ü) èõù i„²				    (Ý) èŸø™ i„²

	 (Þ) ñøˆî™ i„²				    (ß)  MNŠ¹í˜¾ i„²

	 Tachistoscope is used to measure 

	 (a) Span of attention				    (b) Span of learning

	 (c) Span of forgetting				    (d) Span of alertness 

28. 	 «ïó® ÜP¾¬ó ðè˜î™ º¬øJ™ Fø‹ õ£Œ‰î ñùMòôPë˜

	 (Ü) ¬õªè†vW				    (Ý) î£˜¡

	 (Þ) «ó£ü˜v					    (ß)  M™Lò‹ê¡

	 The psychologist associated with directive counseling is 

	 (a) Vygotsky					     (b) Thorne

	 (c) Rogers					     (d) Williamson 

29. 	 î£Ã˜ â¡ð£˜ âšõ£Á Ü¬ö‚èŠð´Aø£˜

	 (Ü) ªïPº¬øò£÷˜				   (Ý) Å›G¬ôò£÷˜

	 (Þ) ÞòŸ¬èò£÷˜				    (ß)  ðòÂ¬ì ªè£œ¬èò£÷˜

 	 Tagore was called a / an

	 a .idealist					     b. environmentalist	

	 c. naturalist 					     d. Pragmatist

30. 	 ªü.H õ£†ê¡ â‰î «è£†ð£´ì¡ ªî£ì˜¹¬ìòõ˜?

	 (Ü) è†ì¬ñŠ¹‚ ªè£œ¬è			  (Ý) ªêòô£‚è ªè£œ¬è

	 (Þ) ïìˆ¬îJò™ ªè£œ¬è			  (ß)  ñQî«ïò‚ ªè£œ¬è

	 J.B. Watson was associated with the theory of 

	 a. Structuralism				    b. Functionalism

	 c. Behaviourism				    d. Humanism

   B2
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ð°F&II
îI›

ÞŠð°FJ™ 30 Mù£‚èœ àœ÷ù. Ü¬ùˆ¶ Mù£‚èÀ‚°‹ M¬ìòO‚è «õ‡´‹.

31. 	 ªð£¼ˆ¶è

	 1. ªõ†C		  &		  a. G¬ó e†ì™

	 2. èó‰¬î		  &		  b. «ð£˜ «ñŸ ªê™ô™

	 3. õ…C		  &		  c. âF˜ˆ¶Š «ð£Kì™

	 4. è£…C		  &		  d. G¬ó èõ˜î™

	 °Pf´èœ

		  a	 b	 c	 d	

	 Ü	 4	 1	 2	 3	

	 Ý.	 2	 4	 3	 1	

	 Þ).	 2	 1	 4	 3	

	 ß	 3	 4	 1	 2

32. 	 “«õôõ£? õ£” & âšõ¬è ªî£ì˜ «î˜è:

	 Ü. M¬ùªò„êˆªî£ì˜			   Ý. ªðòªó„êˆªî£ì˜

	 Þ). MOˆªî£ì˜				    ß. â¿õ£Œˆªî£ì˜

33. 	 “Ïð£òˆ” â¡ø£™?

	 (Ü) 2 Ü® ªêŒ»œ				   (Ý) 8 Ü® ªêŒ»œ

	 (Þ) 4 Ü® ªêŒ»œ				    (ß)  6 Ü® ªêŒ»œ

34. 		  Ì‹¹è£˜ ïèó ñ£ì ñ£O¬èJ™ ÜöAò æMòƒèœ õ¬óòŠð†®¼‰îù âù‚ ÃÁ‹ Ë™?

		   (Ü)ªï´ï™õ£¬ì				    (Ý)ð†®ùŠð£¬ô

		   (Þ)ñ¬ôð´èì£‹				    (ß)CÁð£í£ŸÁŠð¬ì

35. 	 ð£óFî£ê¡ â¿î£î Ë¬ô‚ è‡ìPè

	 1. îINò‚è‹				    2. îI›ˆ«î˜

	 3. «êóî£‡ìõ‹				    4. ð®ˆî ªð‡èœ

	 Ü. 1 ñŸÁ‹ 3			   	 Ý. 2 ñ†´‹

	 Þ. 3 ñŸÁ‹ 4				    ß4 ñ†´‹
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36. 	 “êÍè ñ£ŸøˆFŸ°„ C‰î¬ù M¬îè¬÷ˆ É¾A¡ø ¹ó†Cò£÷˜è÷£«ô«ò Þ‰î ¬õòè‹ 
õ£›Aø¶” â¡Á ÃPòõ˜

	 Ü. ªðKò£˜				    	 Ý. ð£óFî£ê¡

	 Þ. F¼.M.è					     ß. Ü‹«ðˆè˜

37. 	 Þô‚èí‚ °PŠ¹. è¼ºA½‹ ªõ‡ñF»‹

	 (Ü) à‹¬ñˆªî£¬è				   (Ý) â‡µ‹¬ñ

	 (Þ) ð‡¹ˆªî£¬è				    (ß)  M¬ùˆªî£¬è

38. 	 ªð£¼‰î£„ ªê£™¬ô‚  è‡ìPè 

	 (Ü) ñ™ô™ªï´ñF™ 		  &      àK„ªê£Ÿªø£ì˜		

	 (Ý)  àò˜¶¬ô		  &      M¬ùˆªî£¬è

	 (Þ) ñ£ø¡èOÁ		  &      Þó‡ì£‹ «õŸÁ¬ñˆ ªî£¬è

	 (ß) ñ¼ŠÌC			  &      à¼õè‹

39.	  “«è£¬õ” - ªðò˜ ªê£™L¡ õ¬è ÜPè.

	 (Ü) è£ôŠ ªðò˜				    (Ý) ð‡¹Š ªðò˜

	 (Þ) ÞìŠªðò˜				    (ß)  ªî£NŸ ªðò˜

40. 	 Þô‚èí °PŠ¹ î¼è : ‘°¬øò£ õ¡è‡’

	 (Ü) ªðòªó„ê‹				    (Ý) àK„ªê£™ ªî£ì˜

	 (Þ) ºŸªø„ê‹				    (ß)  ßÁªè†ì âF˜ñ¬ø ªðòªó„ê‹

41. 	 “ñ™L¬è Å®ù£œ” & ÞF™ ñ™L¬è â¡ð¶ âšõ¬è Ý°Šªðò˜ «î˜è

	 Ü. Þìõ£° ªðò˜			   	 Ý. C¬ùò£° ªðò˜

	 Þ.. ªð£¼÷£°ªðò˜				   ß. ð‡ð£° ªðò˜

42. 	 ÃŸÁè¬÷ ÝŒè.

	 1. ê£F â¡Â‹ ð£¬ø à¬ì‰¶ ²‚° Ëø£è Þ¬ìMì£¶ à¬öˆîõ˜èœ ªðKò£˜ & Ü‹«ðˆè˜

	 2. “âƒ«è êñˆ¶õ‹ ñÁ‚A¡ø«î£ Üƒ«è ñQîŠ ð‡¹ ñ¬ø‰¶ M´Aø¶ & ªðKò£˜.

	 3. ê£F è¬÷òŠðì «õ‡®ò¬õ & Ü‹«ðˆè˜

	 Ü. 1 ñ†´‹ îõÁ				    Ý. 2 ñ†´‹ îõÁ

	 Þ. 3 ñ†´‹ îõÁ				    ß. Ü¬ùˆ¶‹ îõÁ



TNTET-1      /    Cell:  7550151584 12

43. 	 è‹ð˜ â¿î£î Ë¬ôˆ «î˜è

	 Ü. êì«è£ðó‰î£F				    Ý. êó²õF Ü‰î£F

	 Þ. ÜŸ¹îˆ F¼õ‰î£F			   ß. F¼‚¬è õö‚è‹

44. 	 ‘ñ£ÂìŠ HøŠHÂœ ñ£î£ àîóˆ¶ ßùI™ A¼I ªê¼MQ™ H¬öˆ¶‹’ & â¡Â‹ õK 
àí˜ˆ¶õ¶

	 Ü. ªð£PJò™ ÜP¾			   Ý. èQñMò™ ÜP¾

	 Þ. cKò™ ÜP¾				    ß. ñ¼ˆ¶õ ÜP¾

45. 	 õœ÷ô£¬ó ¹¶ªïP è‡ì ¹ôõ˜ âù «ð£ŸPòõ˜ ò£˜?

	 (Ü) ð£óFò£˜				         	 (Ý) ð£óFî£ê¡

	 (Þ) õœÀõ˜				    (ß)  ªðKò£˜

46. 	 “ñ£´ H®ˆî£¡” & âšõ¬è «õŸÁ¬ñ à¼¹ «î˜è:

	 Ü. ï£¡è£‹ «õŸÁ¬ñ à¼¹		  Ý. Þó‡ì£‹ «õŸÁ¬ñ à¼¹

	 Þ.. ä‰î£‹ «õŸÁ¬ñ à¼¹			  ß. ãö£‹ «õŸÁ¬ñ à¼¹

47. 	 ê£˜ªð¿ˆ¶‚èœ ... ªñ£ˆî Ã´î™ â‡E‚¬è

	 Ü.367				    	 Ý. 216

	 Þ.. 369 					     ß. 217

48. 	 ªè£´‚èŠð†´œ÷ ªêŒ»œ Ü®J™ Ü®‚«è£®†ì„ ªê£ŸèÀ‚°Š ªð£¼ˆîñ£ù Þô‚èí‚ 
°PŠ¬ð‚ è‡ìPè :

	 CŸP™ïŸÚ‡ ðŸP G¡ ñè¡

	 (Ü) ð‡¹ˆªî£¬è, à¼õè‹		  (Ý) ð‡¹ˆªî£¬è, M¬ùªò„ê‹

	 (Þ) ð‡¹ˆªî£¬è, M¬ùˆªî£¬è		 (ß)  ð‡¹ˆªî£¬è, ð‡¹ˆªî£¬è

49. 	 Þô‚èí‚ °PŠðPî™

	 “ï™ô£ŸÁŠ ðÇà ªïP»ñ£ ó¶«õ”

	 ÃŸÁ (A) : ªêŒ»O¬êò÷ªð¬ì

	 è£óí‹ (R) : å¼ YK™ Þò™ð£è àœ÷ ªï†ªì¿ˆ¶ Ü÷ªð´ˆ¶, Ü÷ªð¬ì‚ °P¬ò 
c‚Aù£™ ªêŒ»O™ Y˜, î¬÷ ªè´‹

	 (Ü) (A) - êK Ýù£™ (R) - îõÁ

	 (Ý) (A) - ñŸÁ‹ (R) - Þó‡´‹ êK, «ñ½‹ (R) - â¡ð¶ (A)- MŸ°„ êKò£ù M÷‚è‹

	 (Þ) (A) - îõÁ. Ýù£™ (R) - êK
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	 (ß)  (A) - ñŸÁ‹ (R) - Þó‡´‹ îõÁ

50. 	 “ï™õN” Þô‚èí‚°PŠ¹ è‡ìPè :

	 (Ü) ð‡¹ˆªî£¬è				    (Ý) àõ¬ñˆ ªî£¬è

	 (Þ) M¬ùˆ ªî£¬è				   (ß) à¼õè‹

51.  	 ð†®ò™ I ä ð†®ò™ II àì¡ ªð£¼ˆF, W«ö ªè£´‚èŠð†´œ÷ °Pf´è¬÷‚ ªè£‡´ 
êKò£ù M¬ì¬òˆ «î˜‰ªî´ :

	 ð†®ò™ I				    ð†®ò™ II

	 (Ü)	 ãô£F				    1. ñ¶¬ó‚ ÃìÖ˜‚Aö£˜

	 (Ý)	 º¶ªñ£N‚ è£…C		  2. èE«ñî£Mò£˜

	 (Þ)	 CÁð…ê Íô‹			  3. ªð¼õ£J™ ºœOò£˜

	 (ß)	 Ýê£ó‚«è£¬õ			  4. è£Kò£ê£¡

	 °Pf´èœ :

		  (a)	 (b)	 (c)	 (d)

	 (Ü)	 4	 2	 3	 1

	 (Ý)	 1	 3	 2	 4

	 (Þ)	 2	 1	 4	 3

	 (ß)	 3	 4	 1	 2

52.	  “åŠHô‚èíˆ î‰¬î”âù Ü¬ö‚èŠð´ðõ˜

	 (Ü) ióñ£ºQõ˜				    (Ý) è£™´ªõ™

	 (Þ) èMë˜ è‡íî£ê¡			   (ß)  ªî£™è£ŠHò˜

53. 	 “àJK™ èô‰î£¡ è¼¬í èô‰¶”- ÞŠð£ì™ õKèœ Þì‹ªðŸÁœ÷ Ë™

	 Ü. F¼Šð£ì™ Fó†´ 			   Ý. F¼õ¼†ð£ 

	 Þ. èñðó£ñ£òí‹ 				    ß. F¼‚°øœ

54. 	 ‘¬î’ â¡Â‹ æªó¿ˆ¶ å¼ ªñ£N‚°Kò ªð£¼œ ò£¶?

	 (Ü) ñ£î‹					     (Ý) Ì

	 (Þ) õ¼ì‹					     (ß)  Ý†ì‹

55. 	 ‘õœ¬÷‚° àøƒ°‹ õ÷ï£ì’

	 õœ¬÷ -\ â¡ðî¡ ªð£¼œ ò£¶?

	 (Ü) ªï™ °ˆ¶‹ «ð£¶ ªð‡èœ ð£´‹ ð£†´
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	 (Ý) ïì¾ ï´‹ «ð£¶ ªð‡èœ ð£´‹ ð£†´

	 (Þ) °‹Iò®‚°‹ «ð£¶ ªð‡èœ ð£´‹ ð£†´

	 (ß)  Þ¬õ â¶¾‹ Þ™¬ô

56. 	 Üêô£‹H¬è Ü‹¬ñò£˜ °Pˆî ÃŸÁèO™ îõø£ù¶ â¬õ?

	 1. Üêô£‹H¬è Ü‹¬ñò£¬ó Þ‚è£ô å÷¬õò£˜ â¡Á F¼.M.è ð£ó£†®»œ÷£˜

	 2. ï£ÛŸÁ å¡ð¶ ð£ì™è¬÷‚ ªè£‡ì Þó£ñLƒè ê£Ièœ êKî‹ âÂ‹ ªêŒ»œ Ë¬ô 
ÞòŸPòõ˜

	 3. è£‰F¹ó£í‹ ßó£Jóˆ¶ º‰ËŸÁ  ï£¡° ð£ì™è¬÷‚ ªè£‡ì¶.

	 4. F‡®õùˆFŸ° Ü¼A™ àœ÷ Þó†ì¬íJ™ Hø‰îõ˜

	 Ü. 1, 2 ñŸÁ‹ 4 îõÁ			   Ý. 2 ñŸÁ‹ 4 îõÁ

	 Þ. 3 ñ†´‹ îõÁ				    ß. 2 ñ†´‹ îõÁ

57. 	 W«ö ªè£´‚èŠð†´œ÷õŸÁœ Í¡ø£‹ «õŸÁ¬ñˆ ªî£¬è«ò£´ ªð£¼‰¶õ¶ â¶?

	 1. ð£™ ð¼Aù£¡				    2. î¬ô õíƒAù£¡

	 3. á˜ cƒAù£¡				    4. ¬è ªî£¿î£¡	

	 Ü. 1 ñŸÁ‹ 2				    Ý. 2 ñŸÁ‹ 3

	 Þ. 2 ñŸÁ‹ 4				    ß. 3 ñŸÁ‹ 4

58. 	 Üò˜ô£‰¶ ï£†¬ì„ ê£˜‰î è£™´ªõ™ & Hø‰î & ñ¬ø‰î Ý‡¬ìˆ «î˜¾ ªêŒè:

	 Ü. A.H. 1820 & 1903			   Ý. A.H. 1815 & 1891

	 Þ. A.H. 1826 & 1889			   ß. A.H. 1827 & 1900

59. 	 â†´ˆªî£¬è Ë™èO™ W›è‡ì Þô‚AòƒèÀ‚° Ü®õ¬óò¬øˆ «î˜è:

	 1. Üèï£ÛÁ			  &	 A. 4 Ü® ºî™ 8 Ü® õ¬ó

	 2. ïŸP¬í			  - 	 B. 3 Ü® ºî™ 6 Ü® õ¬ó

	 3. °Á‰ªî£¬è		  - 	 C. 13 Ü® ºî™ 31 Ü® õ¬ó

	 4. äƒ°ÁËÁ		  - 	 D. 9 Ü® ºî™ 12 Ü® õ¬ó

	 Ü. D - A - B - C			   	 Ý.C - D - A - B

	 Þ. A-  C - D - B			   	 ß.  B - D- C - A	

60. 	 èEî «ñ¬î Þó£ñÂü‹ Hø‰î Ý‡´ & ñ£î‹ & ï£œ & «î˜è:

	 Ü. 23.10.1886				    Ý. 21.11. 1888

	 Þ. 20.09.1885				    ß. 22.12.1887
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PART&III
ENGLISH

There are 30 questions in this part. All the questions are compulsory.

61.	 What is the synonym for ‘Grasp’

	 (a) Understand					    (b) Seize

	 (c) Knowledge					    (d) Reach

62.	 SENTENCE PATTERN

	 Identify the pattern of the following sentence.

	 India won freedom in 1948.

	 (a) A S V C					     (b) S V O A		

	 (c) S V O C					     (d) S V C A

63.	 Choose the appropriate preposition to complete the sentence.

			   He went ...... the tunnel and reached the other side.

			   (a) into					     (b) through			 

			   (c) in						      (d) across	

64.	 What is the antonym for ‘concrete’

	 (a) Soft					     (b) Discrete

	 (c) Abstract 					     (d) Wispy

65.	 Choose the alternative which best expresses the meaning of the idiom/phrase given in bold.

	  The incident was blown up and people	 were made to believe that there was a large-scale violence

	 (a) Exploded					     (b) Flown up

	 (c) Made huge					    (d) Exaggerated

66.	 Fill in the blank with most appropriate article:

	  		  Who is in ........ kitchen?

			   (a) a						      (b) an			 

			   (c) the 					     (d) none

67.		  Choose the right question tag:
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			   He will leave by this weekend, ....... ?

			   (a) willn’t he					     (b) won’t he		

			   (c) would he					     (d)none

68.	 Find out  the t word of correct spelling

	  a) lebeled 					     b) faithful

	 c) skillfull 					     d) allready

69.	 Choose the correct verb form to complete the sentence.

	 Cows ......... us milk.

	 (a) gave					     (b) are giving			 

	 (c) give					     (d)will give

70.	 Identify the adjective:

	  I have ………………….. money than you.

	 a) Fewer					     b) Less

	 c) Grater					     d) lost

71. 	 My ‘ring’ is made of gold.

	 a) Material Noun				    b) Proper Noun

	 c) Common Noun				    d) Abstract Noun

72.	 Identify the correct COMPOUND sentence form:

 	 She came here to borrow some money

	 a. She came here as to borrow some money	 b. As she came here, borrowed some money

	 c. She came here and borrowed some money	 d. coming here, she borrowed money

	 Give the correct PUNCTUATION

73. 	 What a horrible accident.

	 a. What! a horrible accident			   b. What a horrible accident?

	 c. What? A horrible accident			   d. What a horrible accident!

74.	 Fill in the blanks with the correct Pronoun:
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 	 Anitha is in the Kitchen. Call _____ please

 	 a. here 					     b. it 

	 c. her						      d. me

	 Identify the TENSE in the following sentences

75. 	 Kabeer was rescued at the eleventh hour

	 a. past tense					     b. future tense

	 c. present tense				    d. past participle

76. 	 I love swimming

	 a. past tense					     b. past continuous tense

	 c. present tense				    d. present continuous tense

77. 	 I had gone to the Diwali mela with my cousins

	 a. past tense					     b. present tense

	 c. past continuous tense			   d. past perfect tense

78.	 Choose the correct AUTHORS for the given below

	  Arthashastra

	 a. Bana Bhatt 					     b. Vedvyas

	 c. Chankya					     d. Kalidas

79. 	 Cabulliwallah

	 a. K.R. Narayan				    b. Monica Ali

	 c. V.S. Naipaul					    d. Rabindranath Tagore

	 Complete the passage by filling the blanks with appropriate CONJUNCTION

	 ‘A Snow drop’ ____(80) a flower____(81)___ grows in cold areas. It often pushes ___(82)___ up 
through snow-covered ground.

	 It was winter time ___(83)___ everything ___(84)___ covered with ____(85)___ The cold winter 
winds ___(86)___ everywhere but ___(87)___ was something that was snug ___(88)___ warm. This 
was little flower, still a __(89)__. It lay in the soil __(90)__	  the ground..

80.	 a. is 			   b. was			   c. are			   d. were

81. 	 a. this			   b. which		  c. that			   d. whose

   B 3
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82. 	 a. it 			   b. its			   c. itself			   d. himself

83. 	 a. and			   b. for 			   c. but			   d. only

84. 	 a. is 			   b. was			   c. are 			   d. were

85. 	 a. mountain		  b. plain			  c. snow			  d. water

86.	 a. blown		  b. blow			  c. blowed		  d. blew

87. 	 a. here 		  b. there			  c. where		  d. those

88. 	 a. and 			  b. but			   c. if 			   d. unless

89. 	 a. flower 		  b. snow			  c. bud			   d. snowdrop

90.	 a. above		  b. down			  c. below		  d. in to
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ð°F & IV

PART - IV

èí‚° 

MATHEMATICS 

91. 	 å¼ °PŠH†ìˆ ªî£¬èò£ù¶ 3 Ý‡´èO™ 6,500 Ýè¾‹ 
11
2
 Ý‡´èO™ 5,750 	

Ýè¾‹ ñ£ÁAø¶. Üê™ ñŸÁ‹ õ†® iîˆ¬î‚ è£‡è. 

	 (Ü) 4000;10%				    (Ý) 5000;10%

	 (Þ) 5000;5%				    (ß) 5000;5%

	 A certain sum of money amounts to 6,500 in 3 years and 5,750 in 
11
2

 years respectively . Find the 	
principal and the rate percent.

	 (A) 4000;10%				    (B) 5000;10%

	 (C) 5000;5%				    (D) 5000;5%

92.	 Þ¼ ªõš«õÁ â‡èO¡ êKò£ù ªî£ì˜¹

	 (Ü) eŠªð¼.ªð£.õ = e„CÁ ªð£.ñ		 (Ý) eŠªð¼ ªð£.õ < e„CÁ ªð£.ñ

	 (Þ) e„CÁ ªð£.ñ < eŠªð¼ ªð£.õ.	 (ß) e„CÁ ªð£.ñ. > eŠªð¼ ªð£.õ.

	 Find the correct relationship between G.C.D and L.C.M.

	 (i) G.C.D = L.C.M 				    (ii) G.C.D < L.C.M

	 (iii) L.C.M < G.C.D 				    (iv) L.C.M > G.C.D

93.	 300 ïð˜èœ èô‰¶‚ ªè£œÀ‹ è™ò£í M¼‰FŸ° 60 A«ô£ è£ŒèPèœ «î¬õŠð´Aø¶. 	
500 ïð˜èœ Ü‰î M¼‰FŸ° õ¼õ£˜èœ âQ™, âšõ÷¾ è£ŒèPèœ «î¬õŠð´‹?

	 (Ü) 100 A«ô£				    (Ý) 110 A«ô£

	 (Þ) 90 A«ô£				    (ß) 120 A«ô£

	 A marriage party of 300 people require 60 kg of vegetables. What is the requirement if 500 people 		
turn up for the marriage?

	 (A) 100 kg					     (B) 110 kg

	 (C) 90 kg					     (D) 120 kg

94.	  å¼ ð£†®L™ àœ÷ ªñ£ˆî Hvè†´èO¡ â‡E‚¬èJ™ 15% Hvè†´èœ 30 âQ™, 	
Hvè†´èO¡ ªñ£ˆî â‡E‚¬è......

	 (Ü) 100					     (Ý) 200

	 (Þ)	 150					     (ß) 300

	 15% of the total number of biscuits in a bottle is 30. The total number of biscuits is _______.
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	 (A) 100					     (B) 200 

	 (C)  150					     (D) 300

95.	 å¼ è®è£ó‹ ñE‚° 5 ªï£® «õèñ£è Þòƒ°Aø¶. ºŸðè™ 6 ñE‚° Ü‰î è®è£ó‹ 		
êKò£ù «ïóˆF™ ¬õ‚èŠð†ì£™, HŸðè™ 4 ñE‚° â¡ù «ïóˆ¬î‚ è£†´‹?

	 (Ü) 4:00:55					    (Ý) 4:50

	 (Þ) 4:45					     (ß) 4:00:50

	 A clock is fast by 5 seconds per hour find the time that it will show at 4 p.m. if it was adjusted to 		
correct time at 6 a.m.

	 (A) 4:00:55					     (B) 4:50

	 (C) 4:45					     (D) 4:00:50

96.	 24 e c÷ºœ÷ å¼ KŠð¡ 3 : 2 : 7 â¡ø MAîˆF™ 3 ¶‡´è÷£è ªõ†ìŠð´Aø¶ 		
âQ™, åšªõ£¼ ¶‡®¡ c÷‹ â¡ù?

	 (Ü) 4 e,6 e,14 e				    (Ý) 3 e,2e,7e 

	 (Þ) 6 e,4 e,14 e				    (ß)  14e, 6e, 4 e

	 A ribbon is cut into 3 pieces in the ratio 3: 2: 7. If the total length of the ribbon is 24 m, find the 		
	 length 	 of each piece.

	 (A) 4m,6m,14m				    (B) 3m,2m,7m 

	 (C) 6m,4m,14m				    (D) 14m,6m,4m

97.	 Þ‹ó£¡ æ˜ Ü…êôèˆF™ 12% õ†®J™ åšªõ£¼ ñ£îº‹  400ä 2 Ý‡´èÀ‚°„ 		
ªê½ˆF õ‰î£˜. Þó‡´ Ý‡´èœ º®M™ Üõ¼‚°‚ A¬ì‚°‹ ªî£¬è¬ò‚ è£í¾‹.

	 (Ü)  10,800		  (Ý)  10,700

	 (Þ)  10,900			   (ß)   10,600

	 Imran deposits  400 per month in a post office as R.D. for 2 years. If the rate of interest is 12%, find 	
	 the amount he will receive at the end of 2 years.

	 (A)  10,800			   (B)  10,700

	 (C)  10,900			   (D)  10,600

98.	  ....... °Pˆî M¬ô - îœÀð®.

	 (Ü) Üì‚èM¬ô				    (Ý) MŸð¬ù M¬ô

	 (Þ) ð†®ò™M¬ô				    (ß) ê‰¬î M¬ô 

	 ______ = Marked Price – Discount.

	 (A) Cost Price 				   (B) Selling Price 

	 (C) List Price 					     (D) Market price
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99. 	 å¼ ªð†®J¡ Üì‚èM¬ô  155 Ýè¾‹, MŸð¬ù M¬ô  140 Ýè¾‹ Þ¼‰î£™ 		
ãŸð´‹ ï†ì‹

	 (Ü)  155					     (Ý)  140

	 (Þ)  15					     (ß) Þ¬õ â¶I™¬ô

	 If the cost price of the box is 155 and the selling price is 140, then there is a loss of ̀

	 (A) 155 					     (B) 140 

	 (C) 15 						      (D) none of these

100. 	 Yó£ù «õèˆF™ å¼ ªî£ì˜ õ‡®ò£ù¶ (train) 90 A.e. Éóˆ¬î‚ èì‰î¶. ÜîÂ¬ìò 	
«õè‹ ñE‚° 15 A.e. ÜFèK‚èŠð†®¼‰î£™, ðòí‹ ªêŒ»‹ «ïó‹ 30 GIìƒèœ 		
°¬ø‰F¼‚°‹ âQ™, ªî£ì˜ õ‡®J¡ Yó£ù «õè‹ è£‡è.

	 (Ü) 25,20					     (Ý) 20,25

	 (Þ) 30,25					     (ß) 45 A.e / ñE

	 A train covers a distance of 90 km at a uniform speed. Had the speed been 15 km/hr more, it would 	
have taken 30 minutes less for the journey. Find the original speed of the train.

	 (A) 25,20					     (B) 20,25

	 (C) 30,25					     (D) 45km/hr

101.	 å¼ AK‚ªè† êƒèˆF™ ªñ£ˆî‹ 15 àÁŠHù˜èœ àœ÷ù˜. Üõ˜èO™ 5 «ð˜ 			 
ñ†´«ñ ð‰¶ i²‹ Fø‹ ð¬ìˆîõ˜èœ. Þõ˜èÀœ 11 «ð˜ ªè£‡ì å¼ °¿M™ 		
°¬ø‰î¶ 3 ð‰¶ i„ê£÷˜è÷£õ¶ Þì‹ªðÁõîŸè£ù Gè›îè¾ è£‡è.

	 (Ü) 15/13 					     (Ý) 14/13 

	 (Þ) 12/13					     (ß)  11/13

	 A cricket club has 15 members, of whom only 5 can bowl. What is the probability that in a team of 	
11 members atleast 3 bowlers are selected?

	 (A) 15/13					     (B) 14/13

	 (C)  12/13					     (D) 11/13

102.	 5929 Þ¡ õ˜‚è Íô‹ è£‡è.

	 (Ü) 83					     (Ý) 73 

	 (Þ) 77					     (ß) 87

	 Find the square root of 5929
	 (A) 83						     (B) 73 

	 (C) 77						     (D) 87

103. 	 98.56 ê.ªê.e ¹øŠðóŠ¹ ªè£‡ì å¼ F‡ñ‚ «è£÷ˆF¡ Ýóˆ¬î‚ è£‡è.
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	 (Ü) 2.8ªê.e					    (Ý) 2.7ªê.e

	 (Þ) 3.0ªê.e					    (ß) 2.9ªê.e

	 If the curved surface area of solid a sphere is 98.56 cm2, then find the radius of the sphere.

	 (A) 2.8cm					     (B) 2.7cm

	 (C) 3.0cm					     (D) 2.9cm

104.	 55 ªê.e x 40 ªê.e x 15 ªê.e â¡ø Ü÷¾èœ ªè£‡ì èù„ªêšõè õ®õ F‡ñ 		
Þ¼‹¹Š ðô¬è à¼‚èŠð†´ å¼ °ö£ò£è õ£˜‚èŠð´Aø¶. Ü‚°ö£J¡ ªõO 			
M†ìñ¢ ñŸÁ‹ î®ñ¡ º¬ø«ò 8 ªê.e ñŸÁ‹ 1 ªê.e âQ™, Ü‚°ö£J¡ c÷ˆ¬î‚ 		

è£‡è. (
22
7

π =  â¡è.)

	 (Ü) 28e.					     (Ý) 14e.

	 (Þ) 21e.					     (ß) 15e.

	 A cuboid shaped slab of iron whose dimensions are 55 cm x 40 cm x 15 cm is melted and recast into 	
a pipe. The outer diameter and thickness of the pipe are 8 cm and 1 cm respectively. Find the 		

length of the pipe. ( Take 
22
7

π = )
	 (A) 28 m				    (	 B) 14 m

	 (C) 21 m					     (D) 15 m

105.	 5. ªê.e ð‚è Ü÷¾ ªè£‡ì èù„ê¶óˆF¡ ªñ£ˆîŠ ðóŠ¹, ð‚èŠðóŠ¹ ñŸÁ‹ èùÜ÷¾ 	
ÝAòõŸ¬ø‚ è£‡è.	

	 (Ü) 425 è.ªê.e				    (Ý) 225 è.ªê.e 

	 (Þ) 325 è.ªê.e				    (ß) 125 è.ªê.e

	 Find the L.S.A, T.S.A and volume of a cube of side 5 cm.
	 (A) 425 cm					     (B) 225 cm 

	 (C) 325 cm					     (D) 125 cm					   
	

106.	 35 ªð£¼†èœ ÜìƒAò ªî£°Š¹ å¡P™ 7 ªð£¼†èœ °¬øð£´¬ìòù. 			 
Üˆªî£°ŠHL¼‰¶ å¼ ªð£¼œ êñõ£ŒŠ¹ º¬øJ™ «î˜‰ªî´‚°‹ «ð£¶ 			 
Ü¶ °¬øð£ìŸø ªð£¼÷£è Þ¼ŠðîŸè£ù Gè›îè¾ ò£¶?

	 (Ü) 3/5					     (Ý) 2/5

	 (Þ) 4/5					     (ß)  1/5

	 There are 7 defective items in a sample of 35 items. Find the probability that an item chosen at 		
random 	 is non-defective.

	 (A) 3/5						      (B) 2/5

	 (C) 4/5						      (D) 1/5
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107.	 50 ñ£íõ˜èœ àœ÷ å¼ õ°ŠH™, åšªõ£¼ ñ£íõÂ‹ èEî‹ Ü™ô¶ ÜPMò™ Ü™ô¶ 
Þó‡®½‹ «î˜„C ªðŸÁœ÷ù˜. 10 ñ£íõ˜èœ Þó‡´ ðìƒèO½‹ «î˜„C ªðŸÁœ÷ù˜ 
ñŸÁ‹ 28 ñ£íõ˜èœ ÜPMòL™ «î˜„C  ªðŸÁœ÷ù˜. èEîˆF™ «î˜„C ªðŸø ñ£íõ˜èœ 
âˆî¬ù «ð˜? 

	 Ü. 32						     Ý. 35

	 Þ. 33						     ß. 30

	 In a class of 50 students, each of the students passed either in mathematics or in science or in both. 10 
students passed in both and 28 passed in science. Find how many students passed in mathematics?

	 (A)  32					     (B) 35

	 (C)  33					     (D) 30
	

108. 	 1033 x 0 ‚° êññ£ù¶

	 (Ü) 103					     (Ý) 9

	 (Þ) 0						     (ß) 3 

	 1033 × 0 is equal to

	 (A) 103 					     (B) 9 		

	 (C) 0 						      (D) 3

109.	 16 - 48 + 144 -  432 + ..... â¡ø ªð¼‚°ˆ ªî£ìK™ àœ÷ ºî™ 25 àÁŠ¹èO¡ 		
	 Ã´î¬ô‚ è£‡è.

	 (Ü) 2(1+325)					    (Ý) 4(1+325)

	 (Þ) 2(1-&325)					    (ß) 4(1&325)

	 Find the sum of the first 25 terms of the geometric series

	 16 - 48 + 144 - 432 +.... .
	 (A) 2(1+325)	 				    (B) 4(1+325)

	 (C) 2(1-+325)					     (D) 4(1+325)

110. 	 â‡íŸø àÁŠ¹è¬÷‚ ªè£‡ì º¿¬ñˆªî£°F, ............ º¿¬ñˆªî£°FJ™ â¡Á 		
Ü¬ö‚èŠð´Aø¶.

	 (Ü) èEŠð£¡				    (Ý) â¶¾I™¬ô

	 (Þ) º®¾ø£î				    (ß) º®‰î

	 A population consisting of an unlimited number of units is called an ________ population

	 (A) calculator					     (B) nothing

	 (C) infinite					     (D) finite

111. 	 ËŸÁñùˆF™ HK¾èO¡ ñFŠH¡ ªñ£ˆî â‡E‚¬è

	 (Ü) 10					     (Ý) 59
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	 (Þ) 100					     (ß)  99

	 For percentiles, the total number of partition values are

	 a) 10 						      b) 59 		

	 c) 100 					     d) 99

112. 	 2, 4, 6, 8, 10, 12 Þ¡ Þ¬ìG¬ô

	 (Ü) 6					     (Ý) 8

	 (Þ) 7						     (ß)  14

	 The median of 2, 4, 6, 8, 10, 12 is

	 (A) 6 						      (B) 8 		

	 (C) 7 						      (D) 14

113. 	 ºî™ 11 Þò™ â‡èO¡ Mô‚è õ˜‚è„ êó£êK

	 (Ü) 5 					     (Ý) 10  

	 (Þ) 5 2 					     (ß)  10

	 Variance of the first 11 natural numbers is

	 (A) 5  					     (B) 10  		

	 (C) 5 2  					     (D) 10

114.	 -™ àœ÷ ªñ£ˆî ðè£ â‡èO¡ Ã´î¬ô‚ è£‡è.

	 (A) 29						     (B) 28			 

	 (C) 30						     (D) 18

	 Find the total number of prime facto

		  (A) 29						     (B) 28			 

	 (C) 30						     (D) 18

115.	 å¼ º‚«è£íˆF¡ «è£íƒèœ 1 : 3 : 5 â¡ø MFˆF™ àœ÷ù âQ™ Ü‚«è£íƒèO¡ 	
	 ñFŠ¹èœ º¬ø«ò 

	 (A) 20°, 100°, 60°				    (B) 20°, 60°, 100° 		

	 (C) 30°, 60°, 90°				    (D) 60°, 30°, 90°

	 If the angles of a triangle are in the ratio 1 : 3 : 5, then angles are 

		  (A) 20°, 100°, 60°				    (B) 20°, 60°, 100° 		

	 (C) 30°, 60°, 90°				    (D) 60°, 30°, 90°

116.	 ðø¬õ «õ†¬ìò£´ðõ¡ å¼õQì‹ Üõù¶ ¬ðJ™ âˆî¬ù ðø¬õèœ àœ÷ù âù‚ 
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«è†èŠð†ì¶ Üõ¡ 6 îMó ñŸø¬õ °¼M, 6 îMó ñŸø¬õ ¹ø£, 6 îMó ñŸø¬õ è£¬ì 
â¡ø£¡. ÜõQìºœ÷ ªñ£ˆî ðø¬õèœ âˆî¬ù-? 

	 (A)  9						      (B) 18			 

	 (C) 27	 					     (D) 36 	

	 A bird shooter was asked how many birds he had in the bag. He replied that there were all sparrows but 
six, all pigeons but six and all docks but six. How many birds had he in all?

		  (A)  9						      (B) 18			 

	 (C) 27	 					     (D) 36 	

117.	 30 ‚°‹ 60‚°‹ Þ¬ìJ™ àœ÷ ðè£ â‡è¬÷ â¿¶.

	 A)31,37,41,43,47,53,59			   B)33,37,43,47,53,57

	 C)31,39,41,43,47,51,53,59			   D)37,41,43,47,49,53,57,59

	 Write down the Prime Numbers from 30 to 60 

	 A)31,37,41,43,47,53,59			   B)33,37,43,47,53,57

	 C)31,39,41,43,47,51,53,59			   D)37,41,43,47,49,53,57,59

118. 	 0.005184 Þ¡ õ£‚èÍô‹ è£‡è

	 The square root of  0.0051184 

	 A)0.72   					     B)0.720  

	 C)0.072 					     D)7.2

119. 	 Iè¾‹ C‚èô£ù èí‚W´è¬÷ Iè âO¬ñò£‚°õîŸè£è ---------------------------------------------- _____ «î£ŸÁM‚èŠð†ìù.

	 ______ is form to simplify the difficult  problems

	 A) Geometry  / õ®Mò™  			   B) Mensuration/Ü÷Mò™  

	 C) Algebra  / ÞòŸèEî‹    			   D) Logarithms /  ñì‚¬èèœ 

120.	 (-2,7 ) â¡ø ¹œO Ü¬ñ»‹ è£™ ð°F 

	 Which  quadrant the point (-2,7) 

	 A)  I  						      B) II  

	 C) III  						     D) IV
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ð°F & V

PART - V

EVS
   ÞŠð°FJ™ 60 Mù£‚èœ àœ÷ù. Ü¬ùˆ¶ Mù£‚èÀ‚°‹ M¬ìòO‚è «õ‡´‹.

There are 60 questions in this part. All the questions are compulsory.

121. 	 ô£Ã˜ è£ƒAóv b˜ñ£ùŠð® ²î‰Fó Fùñ£è ï£´ º¿õ¶‹ ªè£‡ì£ìŠð†ì ï£œ 
&&&&&&&&

a. 1930 & üùõK 15			   b. 1930 üùõK 26

c. 1929 üùõK 15				    d. 1929 üùõK 26

According to the resolution of the Lahore congress meet, the independence day was celebrated 
throughout India on -------------

a. 1930 January 15				    b. 1930 January 26

c. 1929 January 15				    d. 1929 January 26

122. 	 êð˜ñF ÝCóñˆFL¼‰¶ 1930 ñ£˜„ 12 Þ™ ªî£ìƒA, ãŠó™ 6™ Ü¬ì‰¶ è£‰F 
ê†ìˆ¬î eP âƒ° àŠ¹ è£Œ„Cù£˜?

a. õ£˜î£					     b. è£‹«ð

c. î‡®					     d. ¹«ó£„

Mahatma Gandhi started from Sabarmati Ashram on March 12, 1930 and reached -------- on 
April6, 1930 and prepared salt

a. Warda					     b. Cambay

c. Danti					     d. Broach

123. 	 ‘«îM ê‰Fó°Šî‹’ â¡ø Ë¬ô â¿Fòõ˜

(Ü) è£Oî£ê˜				    (Ý) ð£í˜

(Þ) ý˜û˜					     (ß)  Mê£èîˆî˜

‘Devi Chandra Guptam’ was written by

(a) Kalidasa					     (b) Bana

(c) Harsha					     (d) Vishakadatta

124. 	 ð£óF èô‰¶ªè£‡ì è£ƒAóv ñ£ï£´

a. Åóˆ ñ£ï£´ 1907				   b. ªê¡¬ù ñ£ï£´ 1887

c. º‹¬ð ñ£ï£´, 1885			   d. ÞõŸP™ â¶¾I™¬ô

Name the Congress in which Bharathi participated?

a. Surat conference 1907			   b. Chennai conference 1887



Cell:  7550151584    /     TNTET-127

c. Mumbai conference 1885			   d. None of these

125. 	 Aö‚A‰Fò‚ è‹ªðQJ¡ ¹¬ù ªðò˜

(Ü) ð£Š è‹ªðQ				    (Ý) ê£‹ è‹ªðQ

(Þ) ì£‹ è‹ªðQ				    (ß)  ü£¡ è‹ªðQ

The Nickname of English East India Company was

(a) Bob Company				    (b) Sam Company

(c) Tom Company				    (d) John Company

126. 	 ê‰Fó°Šî ªñ÷Kò˜ âŠ«ð£¶ Þø‰î£˜?

(Ü) A.º. 298				    (Ý) A.º. 273

(Þ) A.º. 269				    (ß)  A.º. 261

When did Chandragupta Maurya die? 

(a) 298 B.C.					     (b) 273 B.C.

(c) 269 B.C.					     (d) 261 B.C.

127. 	 Þ‰FòŠ ªð¼ƒèôèˆF¡ «ð£¶ èõ˜ù˜ ªüùóô£è Þ¼‰îõ˜ &&&&&&&&&&

a. ìçŠK¡ Hó¹				    b. ì™ªý÷C Hó¹

c. è˜Qƒ Hó¹				    d. L†ì¡ Hó¹

The governor general at the time of the Big Revolt -------

a. Lord Dufferin				    b. Lord Dalhousie

c. Lord Canning				    d. Lord Lytton

128. 	 àò˜cFñ¡øˆF™ âˆî¬ù cFðFèœ âù b˜ñ£QŠð¶

(Ü) Þ‰Fò£M¡ î¬ô¬ñ cFðF		  (Ý) Þ‰Fò °®òó²ˆ î¬ôõ˜

(Þ) ñ£Gô ÝÀï˜				    (ß)  ï£ì£Àñ¡ø‹

The number of Judges of High Court is determined by

(a) The Chief Justice of India			   (b) The President of India

(c) The Governor of the State			   (d) The Parliament

129. 	 Ü†ì£˜Q ªüùó™ ò£ó£™ Gòñù‹ ªêŒòŠð´Aø£˜?

(Ü) Hóîñ Ü¬ñ„ê˜				   (Ý) °®òó²ˆ î¬ôõ˜

(Þ) à„ê cFñ¡øˆF¡ î¬ô¬ñ cFðF	 (ß) Ü†õ«è† ªüùó™

The Attorney General (AG) is appointed by

(a) The Prime Minister				   (b) The President

(c) Chief Justice of India			   (d) Advocate General		
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130. 	 ²òñKò£¬î Þò‚è‹ «î£ŸÁM‚èŠð†ì õ¼ì‹

a. 1925		  b. 1926			  c. 1927			  d. 1924

In which year was the Self Respect Movment started?

a. 1925		  b. 1926			  c. 1927			  d. 1924

131. 	 1930™ Ìù£M™ ªð‡èœ ñ£ï£†¬ì ïìˆFòõ˜

a. ºˆ¶ô†²I ªó†®			   b. ñEò‹¬ñ

c. î˜ñ£‹ð£œ					    d. ó£ñ£I˜î‹ Ü‹¬ñò£˜

Who conducted the All India Women conference at Pune in 1930?

a. Muthulakshmi Reddy			   b. Maniammai

c. Dharmambal				    d. Ramamirdham Ammaiyar

132. 	 ‘ióˆîIö¡¬ù’ â¡ø ð†ì‹ ªðŸøõ˜

a. ì£‚ì˜ ºˆ¶ªô†²I ªó†®		  b. ì£‚ì˜ î¼ñ£‹ð£œ

c. ñEò‹¬ñ					    d. ó£ñ£I˜î‹ Ü‹¬ñò£˜

Who won the title Veerathamizh Annai?

a. Dr. Muthulakshmi Reddy			   b. Dr. Dharmambal

c. Maniammai					    d. Ramamirtham Ammaiyar

133. 	 î‚è£í Þ‰Fò£M¡ º‚Aò c˜Šð£êù º¬ø

	 (Ü) AíŸÁŠ ð£êù‹			   (Ý) è£™õ£ŒŠ ð£êù‹

	 (Þ) ãKŠ ð£êù‹				    (ß)  °ö£Œ‚ AíŸÁŠ ð£êù‹

	 The most important means of irrigation in Deccan India is

	 (a) well					     (b) Canal

	 (c) tank					     (d) tubewell

134. 	 Þ‰Fò£M¡ Ï˜ âù Ü¬ö‚èŠð´‹ ïFŠ ðœ÷ˆî£‚°

	 (Ü) î£«ñ£î˜					    (Ý) ý§‚O

	 (Þ) ²õ˜í«óè£				    (ß)  «è£î£õK

	 The river basin which is called  “Ruhr of India” is

	 (a) Damodar					     (b) Hooghly

	 (c) Swarnarekha				    (d) Godavari

135. 	 “õƒè£÷ˆF¡ ¶òó‹” â¡Á Ü¬ö‚èŠð´‹ ïF

	 (Ü) òºù£					     (Ý) î£«ñ£î˜

	 (Þ) ï˜ñ¬î					     (ß)  îŠF

	 Which river is called  “Bengal’s sorrow”?
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	 (a) Yamuna					     (b) Damodhar

	 (c) Narmada					     (d) Tapti

136. 	 ®ê‹ðK™ â‰î ïèó‹ ÜFè Ü÷M™ ÅKò ê‚F¬òŠ ªðÁ‹?

	 (Ü) è™èˆî£					    (Ý) ªì™L

	 (Þ) ÜI˜îêóv				    (ß)  ªê¡¬ù

	 Which place receives maximum solar, energy in December?

	 (a) Kolkata					     (b) Delhi

	 (c) Amritsar					     (d) Chennai

137. 	 Þ‰Fò£M™ è£´èO¡ GôŠðóŠ¹

	 (Ü) 33%					     (Ý) 22%

	 (Þ) 18%					     (ß)  10%

	 Forest coverage in India is

	 (a) 33%					     (b) 22%

	 (c) 18%					     (d) 10%

138.	 ªî¡ Þ‰Fò ÞóJ™«õJ¡ î¬ô¬ñJì‹

	 (Ü) è†ì£‚					     (Ý) ªêè‰Fóð£ˆ

	 (Þ) ªê¡¬ù				    (ß)  ªðƒèÙ˜

	 Headquarters of  south central railway is at 

	 (a) Cuttack					     (b) Secunderabad

	 (c) Chennai					     (d) Bangalore

139. 	 «îJ¬ô ªð¼ñ÷M™ Þƒ° ðJKìŠð´Aø¶

	 (Ü) ü£õ£					     (Ý) «ð£vQò£

	 (Þ) Þôƒ¬è				    (ß)  Þ‰Fò£

	 Tea is cultivated at the highest level in

	 (a) Java					     (b) Bosnia

	 (c) Sri Lanka					     (d) India

140.	  	 “õ£»M¡ èùÜ÷¾, Üî¡ Ü¿ˆîˆFŸ° î¬ôW› MAîˆF™ àœ÷¶” Þ¶

		  A) ð£J™ MF				    B) ê£˜ôv MF 

		  C) ð£™ð¡ MF	 			   D) ªý¡P MF 

	 “Volume of a gas is inversely proportional to pressure.” This is 

	 (a) Boyle’s law				    (b) Charles’ law

	 (c) Dalton’s law				    (d) Henry’s law
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141. 	 Í¬÷‚è†®¬ò è‡´H®‚°‹ èFKò‚è ä«ú£«ì£Šð£ù¶

		  A) ð£vðó‹					     B) «è£ð£™† 

		  C) Ü«ò£®¡					    D) «ê£®ò‹ 

	 The radio isotope used for locating brain tumor is

	 (a) phosphor					     (b) cobalt

	 (c) iodine					     (d) sodium 

142. 	 b¬ò Ü¬í‚°‹ ªð£¿¶ àð«ò£èŠð´ˆî‚ Ãì£î õ£»

	 (Ü) O2	 				    (Ý) H2
	 (Þ) N2					     (ß)  CO2
	 The gas that should not be used for extinguishing fire is 
	 (a) O2						      (b) H2

	 (c) N2						      (d) CO2

143. 	 M†Kò£™ â‡ªíŒ â¡ð¶ â¶?

	 (Ü) ê™çŠÎK‚ ÜIô‹			   (Ý) e¬î™ ê£LC«ô†

	 (Þ) ¬ï†«ó£ ªð¡Y¡			   (ß)  ¬ý†«ó£ç¹ÙK ÜIô‹ 

	 Oil of vitriol is 
	 (a) Sulpuric acid				    (b) Methyl salicylate 
	 (c) Nitrobenzene				    (d) Hydrofluoric acid

144. 	 Üõªè†«ó£ MF ªð£¼‰¶õ¶?

	 (Ü) F‡ñƒèÀ‚°				   (Ý) F‡ñƒèœ ñŸÁ‹ FóõƒèÀ‚°

	 (Þ) õ£»‚èœ ñŸÁ‹ FóõƒèÀ‚°		 (ß)  õ£»‚èÀ‚°

	 Avogadro’s law is applicable to 
	 (a) solids					     (b) solids and liquids
	 (c) gases and liquids				    (d) gases 

145. 	 ªï£F ªðŠC¡ âƒ° ²ó‚èŠð´Aø¶?

	 (Ü) õ£Œ					     (Ý) õJÁ

	 (Þ) è™hó™					    (ß)  CÁ°ì™

		  Pepsin is an enzyme secreted in
		  (a) mouth					     (b) stomach
		  (c) liver					     (d) small intestine

146. 	 ê‚FJ¡ Üô° Þšõ£Á °PŠHìŠð´Aø¶

	 (Ü) A«ô£ Aó£‹				    (Ý) A«ô£ ü§™
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	 (Þ) A«ô£ è«ô£Kèœ			   (ß)  ªñè£ ü§™

		  Unit of energy is expressed in
		  (a) Kilogram					     (b) Kilo Joule
		  (c) Kilo calories				    (d) Mega Joule

147. 	 Hªó÷Qò¡ Þò‚è‹ ò£ó£™ è‡ìPòŠð†ì¶?

	 (Ü) Þó£ð˜† Hªó÷¡			   (Ý) C‚ñ£‡®

	 (Þ) ý£˜®-û¨™v				    (ß)  Aóý£‹

		  Brownian movement was discovered by
		  (a) Robert Brown				    (b) Zsigmondy
		  (c) Hardy-Schulze				    (d) Graham

148. 	 ¹™ → ªõ†´‚AO → îõ¬÷ → ð£‹¹ →è¿°

	 Þ¶ â¬î‚ °P‚Aø¶?

	 (Ü) àí¾„ êƒAL ñŸÁ‹ àí¾ õ¬ô

	 (Ý) àí¾ ²öŸC ñŸÁ‹ àí¾„ êƒAL

	 (Þ) àí¾„ êƒAL ñŸÁ‹ ê‚F æ†ì‹

	 (ß) ê‚F æ†ì‹ ñŸÁ‹ àí¾ õ¬ô.

		  Grass → Grasshopper → Frog → Snake → Hawk
		  This indicates what?
		  (a) Food chain and food web			   (b) Food cycle and food chain
		  (c) Food chain and energy flow			  (d) Energy flow and food web

149. 	 ð£ô£¬ì‚ è†®J™ àœ÷ ...................... àí¾ åšõ£¬ñ¬ò ãŸð´ˆ¶‹.

	 (Ü) îò£I¡					    (Ý) ¬ì«ó£C¡

	 (Þ) ¬îó£‚C¡				    (ß)  ®KŠ«ð£ç«ð¡

		  …….. present in cheese causes food sensitivity.
		  (a) thiamine					     (b) tyrosine
		  (c) thyroxine					     (d) trytophan

150. 	 î£õóƒèœ ¬ï†óü¬ù â‰î G¬ôJ™ àP…²A¡øù?

		  A) ¬ï†«ó†´èœ				    B) ¬ï†«ó†´èœ 

		  C) Ü‹«ñ£Qò£				    D) Þ¬õ Ü¬ùˆ¶‹ 

	 Plants take nitrogen in the form of

	 (a) Nitrates					     (b) nitrites

	 (c) ammonia					     (d) all of these
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	 All Questions are of MCQ ( Muctiple Choice Questions) type.  There is only one correct answer to each question carring one mark.  There will be no 
negative marking for wrong answers.

5.   	 Ü¬ùˆ¶ ð°îèO™ àœ÷, ªñ£N Mù£‚è¬÷ ªè£‡ì ð°F & II   ñŸÁ‹ ð°F & III  äˆ îMó, Ü¬ùˆ¶ Mù£‚èÀ‚°‹ Þ¼ªñ£NèO™ 
îóŠð†´œ÷ù,

	 All questions other than language questions of Parts II and III shall be bilingual.
6.   	 Mù£(‚èœ) &™ îõÁèœ Þ¼ŠH¡, M‡íŠðî£ó˜èœ ÜîŸè£è â‰î î‡ì¬í»‹ ªðø ñ£†ì£˜èœ. âQÂ‹ «î˜M¡«ð£¶ Þ‰î Mù£(‚èœ) 

êK ªêŒòŠðì ñ£†ì£¶.
	 In any event of any mistake in any question/s, candidates will not be penalized.  However no corrections will be made in question/s during the examination.
7. 	 Mù£ˆªî£°ŠH™ ªêŒ¶ ð£˜ŠðîŸªèù îQò£è îóŠð†´œ÷ ÞìˆF«ô«ò ªêŒ¶ ð£˜‚è «õ‡´‹.  Þ¬î Mù£ˆ ªî£°ŠHL¼‰¶ AN‚è‚Ãì£¶.  

Ã´î™ î£œèœ â¶¾‹ õöƒèŠðì ñ£†ì£¶.
	 Rough work if any, may be done in the question Booklet only in the space provided at the end Booklet.  Do not tear it off from the question  Booklet .  No additonal 

paper shall be provided.
8.  	 ñì‚¬è Ü†ìõ¬í, è£™°«ô†ì˜, Ü÷¾«è£™. ªñ£¬ð™, ªî£¬ô«ðC, «ðü˜, ®T†ì™ ï£†°PŠ«ð´ ñŸÁ‹ â‰ªõ£¼ I¡ùµ ê£îùƒè«÷£ 

ðò¡ð´ˆ¶õ¶ î¬ì ªêŒòŠð†´œ÷¶.  ÞõŸ¬ø ðò¡ð´ˆFù£™ î°F c‚è‹ ªêŒòŠð´i˜èœ.
	 Use, of Log tables, calculator, Slide rule, Mobile Phone. Pager. Digital diary or any other electronic item/ instrument etc. is not allowed.  Their use will result in 

disqualification.
9.  	 Mù£ˆªî£°ŠHÂì¡ OMR M¬ìˆî£÷£ù¶ îQò£è õöƒèŠð´‹ .
	 OMR Answer Sheet will be provided along with Question Booklet separately.
10. 	 Mù£ˆªî£°Šð£ù¶ M‡íŠðî£ó˜èÀ‚°  ---- ‚° îóŠð´‹.  M‡íŠðî£ó˜èœ Mù£ˆªî£°Š¹ ñŸÁ‹ OMR  ---- M¬ìˆî£O™ GóŠð 

«õ‡®ò Mðóƒè¬÷ êKò£è GóŠð «õ‡´‹.  ---- ‚° c‡ì ñE åL‚°‹.  YLìŠð†ì ºˆF¬ó¬ò  ---- ‚° c‡ì ñE åLˆî Hø«è 
Fø‚è «õ‡´‹.  Mù£ˆªî£°ŠH¬ù Fø‰î¾ì¡ ã«îÂ‹ ð‚è‹/ Mù£ Þ™ô£ñ™ Þ¼‚Aøî£ Ü™ô¶ ð‚èƒèœ AN‰«î£, êKò£è Ü„² ðF¾ 
Ýè£ñ«ô£, ð‚èƒèœ F¼‹ð F¼‹ð õ¼Aøî£ âù êKð£˜‚è¾‹, Mù£ˆªî£°ŠH¬ù ñ£ŸP‚ ªè£œ÷ «õ‡´‹.  â„êK‚¬è ñE   ---- ‚°‹ 
c‡ì ÞÁF ñE  ---- ‚°‹ åL‚°‹.

	 The Questin Booklet will be issued to the candiate at----  and the candiate must fill all entries in Question Booklet and OMR Answere sheet.  There will be long 
bell at ----  and the candidate has to open the paper seal of question Booklet only after the long bell at ---- After opening the Question Booklet, ensure that any 
page/ question is not missing/ not printed/ torn/ repeated.   In case, you find any defect anywhere in the Question Booklet, immediately informthe inviglator and 
get it replaced by him.  Warning Bell will ring at ---- and the last long bell will ring  at ----

11. 	 «î˜¾ â‡ OMR M¬ìˆî£œ â‡, Mù£ˆªî£°Š¹ â‡, «î˜¾ ªêŒî ªñ£N 1& ¡ °Pf´, ªðò˜ ñŸÁ‹ ¬èªò£Šð‹  «ð£¡ø¬õè¬÷ ÜîŸªèù 
Mù£ˆªî£°Š¹ ñŸÁ‹ OMR î£O™ îóŠð†´œ÷ ÞìˆF™ GóŠð «õ‡´‹. 

	 Write your Roll No. OMR Snser Sheeto No.,Question Booklet Series Code., Name and put your Signature. Option mad under Language -I and Option for Subject 
in the space provided in the Question Booklet as well as in the OMR Answer Sheet.

12.	 åšªõ£¼ Mù£M½‹  A,B,C & D  â¡ø °PJìŠð†´œ÷ ï£¡° M¬ìèœ îóŠð†´œ÷ù.  åšªõ£¼ Mù£¬õ»‹ èõùñ£è ð®ˆ¶, àƒèÀ‚° 
êKò£ù¶ âù è¼¶‹ M¬ìJ¬ù «î˜‰ªî´‚è¾‹.   OMR   M¬ìˆî£O™ ÜšMù£MŸªèù îóŠð†´œ÷ ÞìˆF™ êKò£ù õ†ìˆ¬î GöL´õî¡ 
Íô‹ àƒè÷¶ M¬ì¬ò °PŠHì¾‹.  GöL´õîŸªèù côGø / è¼¬ñGø ð‰¶º¬ùŠ «ðù£¬õ ñ†´«ñ ðò¡ð´ˆî «õ‡´‹.

	 With each question you willl find 4 possible answers marked by the letters A,B,C & D Read each question carefully and find out which answer, according to you 
is correct.  Indicate your answer by darkening the appropriate circle completely in the OMR Answer Sheet corresponding to the question.  For marking answers 
us blue / Black ballpoint pen only.

13. 	 OMR M¬ìˆî£œ Ýù¶ èEQ Íô‹ ñFŠd´ ªêŒòŠð´‹ ð® õ®õ¬ñ‚èŠð†´œ÷¶.  «ñŸÃPò °PŠ¹è¬÷ è¬ìH®‚è£M®™ èEQÍô‹ 
ñFŠd´ ªêŒõ¶ Þòô£îî£AM´‹.  Þîù£™ M‡íŠðî£ó˜èÀ‚° ãŸð´‹  ÞöŠ¹èÀ‚° M‡íŠðî£ó«ó ªð£ÁŠð£õ£˜. 

	 OMR Answer Sheet is desingned for computer evaluation.  If you do not follow the instructions give above and shown in the OMR Answer Sheet.  It may make 
evaluation by computer diifficult.  Any resultant loss to the condiate on the above accounts shall be of the candiate only.

14.	 ÞÁF ñE åLŠðîŸ° º¡ â‰î å¼ M‡íŠðî£ó¼‹ «î˜¾ Ü¬ø¬ò M†´ ªõO«òø‚Ãì£¶.  «î˜¾ Ü¬ø¬ò M†´„ ªê™½‹ º¡¹   
M¬ìˆî£¬÷ Ü¬ø‚ è‡è£EŠð£÷Kì‹ êñ˜ŠH‚è «õ‡´‹.  Mù£ˆªî£°ŠH¬ù M‡íŠðî£ó«ó â´ˆ¶ ªê™ôô£‹.

	 No candiate should leave the Examination Hall before the final bell.  The OMR  Answer Sheet be handed over to the Invigilator beofore leaving the Examination 
Hall.  The candiate is allowed to take  the Question Booklet with him/ her.

15. 	 îõø£è Ì˜ˆF ªêŒòŠð´‹ / ªêŒòŠðì£ñ™ àœ÷  OMR M¬ìˆî£œèÀ‚° ñFŠªð‡èœ °¬ø‚èŠð´‹.
	 Marks will be deducted if the OMR is filled up wrongly / unfilled.

°PŠ¹èœ / INSTRUCTIONS 
(èõùñ£è ð®ˆ¶ Üî¡ð® ïì‚è¾‹ / Read carefully and comply)

º‚Aò °PŠ¹èœ / IMPORTANT
1 	 ð°F II ™ ( ªñ£N 1) M‡íŠðî£ó˜ Þ¬íòˆF™ M‡íŠðˆ¬î Ì˜ˆF ªêŒò «ï˜‰ªî´ˆî ªñ£N 1 ¡ Mù£‚è¬÷ M¬ìòO‚è «õ‡´‹.
	 In part II (Language I) a candidate has to attempt the questions of the language which the candidate has selected as language I in the Application Form.
2.	 OMR  M¬ìˆî£O™, Mù£îªî£°Š¹ õK¬ê â‡¬í ÜîŸªèù îóŠð†´œ÷ ÞìˆF™ M‡íŠðî£ó«ó êKò£è GóŠð «õ‡´‹. 
	 The candiate mujst ensure that the Qustion Booklet Series code has been filled  correctly at the prescribed places in the OMR  Answer Sheet.
3. 	 M‡íŠðî£ó˜ M‡íŠðˆF™ «î˜‰ªî´ˆîõ£Á ð°F &  IV  ( HK¾ A ) èEî‹ ñŸÁ‹ ÜPMò™ Ü™ô¶ ð°F  IV  (HK¾& B)êÍèMò™ 

ð°F‚° M¬ìòO‚è «õ‡´‹. M‡íŠðˆF™ «î˜‰ªî´ˆîõ£Á ªñ£N ñŸÁ‹ ð£ìŠð°F Mù£‚èÀ‚°  ã«îÂ‹ å¼ M‡íŠðî£ó˜ 
M¬ìòO‚è îõPù£™, Þ¶ îõø£è‚ è¼îŠð´‹  «ñ½‹  ÞˆîõPŸ° M‡íŠðî£ó«ó ªð£ÁŠð£õ£˜. 

	 The candiate has to answer that subject in Part - IV ( Section A) Mathematics and  Science or part - IV ( Section B ) Social  studies as selected by him/  her  in the 
Application Form.  If a candiate answers the questions of the language or subject other than selected in the Application Form, the  candiate  shall be  personally 
responsible for it and it would be treated as wrong.

êKò£ù º¬ø :
Correct method:

îõø£ù º¬ø :
Wrong method:

Correct Correct Correct Correct Correct
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